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Section A
I. Objective type questions. Each question carries n weightage of Y.

Choose the correct alternative from the Evien list

I divCurl E=—
(a) Zero. (b) V3B,
{e} Infinity. {d) None above.

2 The Displacement vector I =

(a) £, E+P (bl e,7%, E

(e} e, 0E/dn. (dY 1+zyx,.

3 V.B=0implies.
{a) Bis always zero. (h) B isaconstant,
(¢) Bisirrotational. (d) B is=olencidal.

4 The magnetic susceptibility of a dinmagnetic material is :

fa) Zero. (h) Less than zero.
{¢) Greater than zero. (d) Complex.

5 The value of permittivity of air is
6 The general solution of one dimensional Laplace's equation is a

T -mgqmﬂun connecting Polarization and-suscoptibility is )
! The field outside a current carrying solenoid is

él Turn oves
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Ciive vory hriel answors
9 Write down the exprossion for flux of m vector. +4

10 Ciive differential form of Amperes law.
; Lo 0 magnetie field.
11 Name the foree tLt|H'r1‘l'lI.lh'!ll[l Ly o moving charge due

12 Give an example for o ferromagnetic material. (12 % Y ‘ 1 T
Section B
1. Answer all nine questions, Each question carries a weightage of 1

13 What is a Gaussinn surface 7
14 Show that electric potential obeys superposition principle. el
16 State 2™ Uniqueness theorom.
16 Define a linear Dieloctric, Give an example. |
17 What are the boundary conditions for D. ; '
18 When u bar magnet i broken into 2 equal parts each part becomes & new magnet. By
it on the basis of vanishing divergence of B, s
19 What 1s Physical significante of the equation VxE = 0.
20 Define magnetization . What is its unit 7
21 How is Magnetic susceptibility rolated to permeability ?
Section (¢

25 Find the minimum kinetic energy of  proton which w o
the equator. Assume the radius of sung o #Oukl encircle |
Mp=LTxomg o = 6400 ki

26 ¥ind the magnetic lux density ofa square wiro loop
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